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Learning outcomes Graph given vertex , edge and find degree circuit path cycle

that any graph is Eulerian Graph

Intended destination Write graph when the vertices and edges
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Definition 1 A5G ABASUAUMG) , E(G) Wiznaumeiwndnia 2 un R
V(G) Wuenveagailifuening 1515unigasen (vertexlned G figasgratios 1 90
£G) Wuwnveadudaduusaziduogiiliudusiu 153unin Wudey (edge) Taodi
Guusteziduilidoussiegn 2 galadlu VG)
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w - v A =
E(S) A dwdanlunsin S Ao wx, wy, Xy, Xz Wag yz
PITU V(S) ={w, xy, z} [\/(S)| =4
z
E(S) = { wx, wy, xy, Xz , yz } |E(S)| =5
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A. V(G) ={ 1,2,3,45Yuay EG) ={ 12,15, 25, 34}
U. V(GQ) ={ a, b,c,def}uay E(G) ={ ab, ab, cd, de, ef , af ,ce}
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) V(G) ={vy,v2,v3,v4}
2) V(G) ={vy,v2,v3,ve}
3) Vi
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V(G) ={vy,V5,V3,Vg}
V(G) ={vy,Vp,V3,Vg}
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E(G) ={vyVa,viVa,vs Vs)

E(G) ={Vv1V,,VoV3, VoV VgVl
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(G) ={v1,V2,v3,Vg, Vs,V E(G) ={V1V3,VoVg, VoV, V3Vs, V3 Vi, VgV, VgVl
E(G) ={v1 V1,V1V3,VaV3,VoVa, V3 V3,VgVa}

E(G) ={V1V2,V1V4,V2V3,VoVa,VaVe}



6) V(G) ={a,b,c,d} E(G) ={ab,cd,bd,bc}
7)V(G) ={e,f,g,h,ij} E(G) ={eh,ej,hi,ij,fh,hj}
8) V(G) ={k,m,n,p,q,} E(G) =tkm,mp,kp,qr}
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o a = a2
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o a = a2
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wanyu  lungu fedy wd  wwAu due
11 ey waemd  avudiy Wednedy  widestuse  dulunyu
1.2 d  uaenedy  vvuiu Wewanyu whesdusa  dulunyu
L3 dmd  upwauyu ¥mvuiu Wednedy  widesdusn  dulunyu
3) nV(G)={UVWXY,Z}, V(G) =6
E(G) ={ UV, UW, UX,UY,VW, VX, VY XW,XYXZWY,YZ } |F(G)| =12
% V(G ={mnopart V(@G)=6
E (¢) ={ mn,mo,mp,mr,on,op,0q,ng,nr,pag,pr,pr 1, |E (g)| =12
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1.1 V(G)= {vq ,V5 V3 Vg V5 Vg ,V7 ,Vg}
E(G) ={vivy, VaV3, VaVa , VoVe, V3V7,VsVe, VeV7,V7Veh
1.2V(G)={v;y ,V, V3 ,Vq V5 Vg V7 }
E(G) ={vyV,, ViV, ViVa, ViVs, V1Ve,VoVa, VoVs VoV, VaVa, VaVs, VaVe , VsVe}
1.3V(G)={v; V5 V3 Vg V5 Ve }
E(G) ={VviVs, ViVg, VoVs , VoV, VaVs,VaVe, VaVs,VaVe, VsVel
1.4 V(G)={vy Vo V3 ,Vq V5 Ve V7 ,Vg}
E(G) ={viVa, ViVa, VoVs , VoVz, VaVs,VaVs, VsVel
1.5 V(G={AB,C D,EF }
E(G) ={e;, e,, €5 ,eq, €5,6¢ €7, €5}
1.6 V(G)={vy Vo V3 Vg V5 Ve }
E(G) ={v1Va,v1Vs , ViVe, VaVa , VaVs, VoVeV3Va, VaVs,V3Ve)
1.7 V(G)= {vqy Vo V3 Vg V5 Vg }
EG) ={e1, e;, €3,84, €5,86}
1.8 V(G)={v; V5 V5 V4 V5 }

E(G) ={e1, €y, €3,8q }
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3.

1) V(G)={v; ,v5 V3 Va4 V5,V }
E(G) ={v1Vy,ViVa , ViVs, ViVg , VoVa, VoVa,VoVs, V3Vs,VaVs, VsVe}

2) ViVg, VoV, Vs, Vs 91U 4 AU

3.

1) V(G)=1{vy vy Vs Vg Vs v hugaunulve and dunen wih wade Geauiy
E(G) ={VqVo,V1Vs , ViVa, ViVs , VoVa, VoV, VaVel
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